IS-M. Com(CBCS)
DDCE — | (MCP)

2014

Time : As in Programme

Full Marks : 70

The figures in the right-hand margin indicate marks.
Answer from all the Sections as per direction.
Section -A

Answer any three questions of the following' :
12x3 =36

1. Describe the concept of management ? Highlight
on the common features and the process of
management in an organization.

2.  Write the concept of planning and enumerate
various components and the process of
planning.

3. Narrate, with example, the different bases of
departmentation.
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2014

Time : As in Programme
Full Marks : 70

IS-M.Com(CBCS)
DDCE — Il (QMM)

The figures in the right-hand margin indicate marks.
Answer from all the Sections as per direction.

. Section - A

Answer any three questions within 700-1000

words each of the following :

12x3 = 36"

1. Define statistics and state whether statistical
methods are likely to be of any use to a business
firm. Discuss functions and limitation of statistics.

2. Find optimal transpoftation cost from the
following information :

Source Destination
D, D, D, Supply
S, 12 17 14 5
'S, 13 13 17 8
S, 4 14 11 7
S, 1 16 12 14
Demand 7 9 18
EA - 30/5 (Tumn over)
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IS-M. Com(CBCS)
DDCE — Il (BBE)

2014

Time : As in Programme
Full Marks : 70

The figures in the rfght—hand margin indicate marks.
Answer from all the Sections as per direction.
Section - A
Answer any three questions of the following in
700-1000 words : 12x3 = 36

1. Discuss various management strategies
adapted by MNCs in 21st Century. Do you think
the current MNCs are well equiped to with stand
the shocks of external environment ? Justify your
answer.

2. Outline the proactive role played by Government
of Odisha to develop industries in the state.
Explain the reasons behind slow pace of
industrial growth in the state.

3. Define social security. Discuss various statutory
provisions of social security.

EA - 35/3 (Turn over)
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IS-M. Com(CBCS)
DDCE — IV (FM)

2014
Time : As in Programme

Full Marks : 70

The figures in the right-hand margin indicaté marks.
Answer from all the Sections as per direction.
Section-A

Answer any three questions of the following in
700-1000 words each : : 12x3 = 36

1. “The Financial Manager’s primary task is to plan
for the acquisition and use of funds so as to
maximise the value of the firm.” Substantiate your
answer. '

2. ZED Ltd. is presently financed entirely by equity
shares. The current market value is Rs. 6,00,000.
A dividend of Rs. 1,20,000 has just been paid.
This level of dividend is expected to be
paid indefinitely. The company is thinking of

EA - 36/4 (Turn over)
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